GB B' Eie ﬁ. Esponenti negativi di 10

Nome: Data: Punteggio:
1079 = 2% 10=
1009 = 854,3 x 1003 =
547,4 x 1002 = 1003 =
575+ 1001 = 9x 100D =
1007 = 530,5+ 1009 =
651,3 x 1002 = 0 x 10% =
187,7 x 1009 = 1x10° =
773,3+ 100Y = 318,6+ 100 =
697,6+ 107 = 688, 6+ 107 =
312,3+ 107 = 128,6 % 107D =
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E HER L=

Esponenti negativi di 10

Nome:

107 = 0.001

107 = 0.0001

547,4 x 10" = 5.474
575+ 107" = 5750
1072 = 0.001

651,3 x 1002 = 6.513
187,7 x 107 = 0.01877
773,3 + 107 = 7733000
697, 6+ 10° = 6.976

312,3+10* =3.123

Data:

—2x10=-20
854,3 x 107 = 0.8543
107 = 0.001

9x 107" =0.9

530,5+ 10 = 530500
9 x 10% = 900
1x10°=1

318,6+ 1077 = 318600
688, 6+ 107 = 688600

128,6 x 10°1 = 12.86
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Punteggio:
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